
 
 
 

narjm H$m df© 2019 
àíZ-nwpñVH$m 

AnZm AZwH«$‘m§H$ gm‘Zo A§H$m| ‘|  
~m°³g Ho$ AÝXa {bI| 
 

   eãXm| ‘| 
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àíZm| Ho$ CÎma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo Ü¶mZ go n‹T> b| & 

‘hÎdnyU© {ZX}e 
1. àíZ-nwpñVH$m Ho$ H$da noO na AZwH«$‘m§H$ Ed§ àíZ-nwpñVH$m ûm¥§Ibm Ho$ A{V[aº$ Hw$N> ^r Z {bI| & 

2. ¶{X {H$gr àíZ ‘| {H$gr àH$ma H$s H$moB© ‘wÐU ¶m VÏ¶mË‘H$ Ìw{Q> hmo Vmo àíZ Ho$ A§J«oOr VWm {hÝXr ê$nmÝVam| ‘| go A§J«oOr ê$nmÝVa H$mo ‘mZH$ ‘mZm Om¶oJm &
3. g^r àíZm| Ho$ A§H$ g‘mZ h¢ &

4. Aä¶Wu AnZo AZwH«$‘m§H$, {df¶ H$moS> Ed§ àíZ-nwpñVH$m H$s grarO H$m A§H$Z OMR Sheet ‘| {Z{X©ï> H$m°b‘ ‘| ghr-ghr H$a|, AÝ¶Wm CÎma-nÌH$ H$m 
‘yë¶m§H$Z Zht {H$¶m Om¶oJm, {OgH$s {Oå‘oXmar ñd¶§ Aä¶Wu H$s hmoJr &

5. Aä¶Wu a’$ H$m¶© hoVw àíZ-nwpñVH$m (~wH$boQ>) Ho$ AÝV ‘| {X¶o J¶o n¥ð>m| H$m hr Ho$db Cn¶moJ H$a| & AbJ go Bg hoVw d{H©ª$J erQ> CnbãY Zht H$am¶r 
Om¶oJr & Aä¶Wu àíZ nwpñVH$m Ho$ A§Xa a’$ H$m¶© Ho$ A{V[aº$ Hw$N> ^r Z {bI| &

6. Bg àíZ-nwpñVH$m ‘| 100 àíZ h¢ &> {Og‘| ^mJ-I ‘| 50 àíZ gm‘mÝ¶ AÜ¶¶Z go g§~§{YV VWm$ ^mJ-II ‘| 50 àíZ gm§p»¶H$s¶ {díbofU H$s 
VH$ZrH$s {df¶ go g§~§{YV h¢ & àË¶oH$ àíZ Ho$ Mma d¡H$pënH$ CÎma àíZ Ho$ ZrMo (a), (b), (c) Ed§ (d) {X¶o J¶o h¢ & BZ Mmam| ‘| go Ho$db EH$ hr 
ghr CÎma h¡ & {Og CÎma H$mo Amn ghr ¶m g~go C{MV g‘PVo h¢, CÎma-nÌH$ (Amo.E‘.Ama. AmÝga erQ>) ‘| CgHo$ Aja dmbo d¥Îm H$mo H$mbo AWdm 
Zrbo ~m°b ßdmB§Q> noZ go nyam H$mbm/Zrbm H$a X| &

7. g^r àíZmo| H$m CÎma {X¶m OmZm h¡ Am¡a àË¶oH$ àíZ Ho$ g‘mZ A§H$ h¢ & AmnHo$ {OVZo CÎma ghr hm|Jo, CÝht Ho$ AZwgma A§H$ {X¶o Om¶|Jo &
8. Am¶moJ Ûmam Am¶mo{OV H$s OmZo dmbr dñVw{Zð> àH¥${V H$s narjmAm| ‘| F$UmË‘H$ ‘yë¶m§H$Z  nÕ{V AnZm¶r Om¶oJr & Aä¶Wu Ûmam 

àË¶oH$ àíZ hoVw {XE JE JbV CÎma Ho$ {bE ¶m Aä¶Wu Ûmam EH$ àíZ Ho$ EH$ go A{YH$ CÎma XoZo Ho$ {bE (Mmho {XE JE CÎma ‘| go EH$ ghr hr 
³¶mo| Z hmo), Cg àíZ Ho$ {bE {ZYm©[aV A§H$m| H$m EH$-Mm¡WmB© XÊS> Ho$ ê$n ‘| H$mQ>m OmEJm & XÊS> ñdê$n àmá A§H$mo| Ho$ ¶moJ H$mo H$wb àmám§H$ ‘| go 
KQ>m¶m OmEJm &

9. AnZo CÎma AmnH$mo AbJ go {X¶o J¶o Amo.E‘.Ama. CÎma-nÌH$ ‘| A§{H$V H$aZo h¢ & AmnH$mo AnZo g^r CÎma Ho$db Amo.E‘.Ama. CÎma-nÌH$ na hr XoZo 
h¢ & Amo.E‘.Ama. CÎma-nÌH$ Ho$ A{V[aº$ AÝ¶ H$ht na {X¶m J¶m CÎma ‘mÝ¶ Zht hmoJm &

10. Amo.E‘.Ama. CÎma-nÌH$ na Hw$N> {bIZo Ho$ nyd© Cg‘| {X¶o J¶o g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| & Amo.E‘.Ama. CÎma-nÌH$ ‘| dm§{N>V gyMZmAm| 
H$mo Aä¶Wu Ûmam narjm àmaå^ hmoZo go nyd© ^am OmZm A{Zdm¶© h¡ &

11. narjm g‘m{á Ho$ CnamÝV Amo.E‘.Ama. CÎma-nÌH$ AÝVarjH$ (Invigilator) H$mo dmng bm¡Q>m X|, AÝ¶Wm H$s pñW{V ‘| Am¶moJ Ûmam {Z¶‘mZwgma 
H$m¶©dmhr H$s OmEJr &

12. ¶{X AmnZo BZ AZwXoem| H$mo n‹T> {b¶m h¡, Bg n¥ð> na AnZm AZwH«$‘m§H$, àíZ nwpñVH$m ûm¥§Ibm H$mo A§{H$V H$a {X¶m h¡ Am¡a Amo.E‘.Ama. CÎma-nÌH$ na 
dm§{N>V gyMZm¶| ^a Xr h¢, Vmo V~ VH$ àVrjm H$a|, O~ VH$ AmnH$mo àíZ-nwpñVH$m ImobZo H$mo Zht H$hm OmVm &

13. Amo.E‘.Ama. CÎma-nÌH$ (O.M.R. Answer Sheet) H$m ‘yë¶m§H$Z Amo.E‘.Ama. Am§ga erQ> na A§{H$V grarO H$moS> Ho$ AmYma na {H$¶m Om¶oJm &
14. àíZ-nwpñVH$m (Question Booklet) ‘| go Amo.E‘.Ama. CÎma-nÌH$ (O.M.R. Answer Sheet) {ZH$mbZo Ho$ níMmV² Amo.E‘.Ama. CÎma-nÌH$ Ed§ 

àíZ-nwpñVH$m H$m grarO H$moS> (A, B, C & D) H$m {‘bmZ Adí¶ H$a b|, ¶{X Amo.E‘.Ama. CÎma-nÌH$ Ed§ àíZ-nwpñVH$m Ho$ grarO H$moS> {^Þ-{^Þ 
hm|, Vmo Cgo VwaÝV AÝVarjH$  go n[ad{V©V H$amH$a g‘mZ grarO H$moS> H$s Amo.E‘.Ama. CÎma-nÌH$ Ed§ àíZ-nwpñVH$m àmá H$a b| & ¶{X 
Cº$mZwgma H$m¶©dmhr Zht H$s OmVr h¡, Vmo CgHo$ {bE Aä¶Wu ñd¶§ {Oå‘oXma hmoJm & 

 

 
 

‘hÎdnyU©  àíZ-nwpñVH$m ImobZo na VwaÝV Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ g^r noO ^br-^m±{V N>no hþE h¢ & ¶{X àíZ-nwpñVH$m n¡³S> Z hmo 
AWdm H$moB©  H$‘r hmo, Vmo Cgo AÝVarjH$ H$mo {XImH$a Cgr grarO H$s Xÿgar àíZ-nwpñVH$m àmá H$a b| & 

nm°{bWrZ ~¡J hQ>mZo Ho$ ~mX nona grb Imobo ~J¡a Bg Va’$ go CÎma erQ> H$mo ~mha {ZH$mb| & 
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1. Kanishka was the follower of which order of Buddhism ? 
 (a) Hinyana (b) Mahayana (c) Vajrayana (d) None of these 
 
2. Which one of the following pairs is incorrectly matched ? 
 (a) Meghdoot – Kalidas  (b) Kamasutra – Vatsayan 
 (c) Prithviraj Raso – Chand Bardai (d) Kathasarit Sagar – Dandi 
 
3. In which of the following organisation, India is not a member ? 
 (a) G-15 (b) U.N.O. (c) A.S.E.A.N. (d) Commonwealth 
 
4. Which of the following country has highest Human Development Index (HDI-Index) in 

2018 ? 
 (a) Norway (b) U.S.A. (c) Switzerland (d) Germany 
 
5. How many indicators are included in Multidimensional Poverty Index (MPI) ? 
 (a) 5 (b) 10 (c) 15 (d) 20 
 
6. The time to achieve goals and targets of sustainable development is upto year _______. 
 (a) 2021 (b) 2025 (c) 2027 (d) 2030 
 
7. The largest tribe of Garhwal region is 
 (a) Tharu (b) Boxa (c) Jaunsari (d) Bhotiya 
 
8. Ozone layer thickness is measured in 
 (a) Dobson unit (b) Millimetre (c) Decibles (d) Centimetre 
 
9. Traditional dance festival ‘Ramman’ is related to which village of the Chamoli district ? 
 (a) Mana (b) Malari (c) Suraithota (d) Salur Dunga 
 
10. Population policy in Uttarakhand was implemented in the year _______. 
 (a) 2006 (b) 2004 (c) 2002 (d) 2005 
 
11. A species is said to be extinct when it is not seen for : 
 (a) 20 years at a stretch  (b) 50 years at a stretch 
 (c) 100 years at a stretch (d) 35 years at a stretch 
 
12. Khatling Glacier is the main source of : 
 (a) Bhilangana river  (b) Bhagirathi river 
 (c) Alaknanda river  (d) Mandakini river 
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1.          ? 
 (a)  (b)  (c)  (d)     
 
2.          ? 
 (a)  –   (b)  –   
 (c)   –  (d)    –  
 
3.           ? 
 (a) -15 (b) ..  (c)  (d)  
 
4.  2018           (   - )   ? 
 (a)  (b) ..   (c)   (d)  
 
5.            ? 
 (a) 5 (b) 10 (c) 15 (d) 20 
 
6.            ______   
 (a) 2021 (b) 2025 (c) 2027 (d) 2030 
 
7.         
 (a)  (b)  (c)  (d)  
 
8.         
 (a)    (b)   (c)   (d)   
 
9.    ‘’         ? 
 (a)  (b)  (c)  (d) - 
 

10.          ______   
 (a) 2006 (b) 2004 (c) 2002 (d) 2005 
 
11.               
 (a)  20    (b)  50    
 (c)  100    (d)  35   
 

12.       
 (a)      (b)     
 (c)     (d)    
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13. D.D.T. insecticidal properties of which were discovered by Paul Mueller in 1939, belongs 
to 

 (a) Natural pesticides  (b) First generation pesticides 
 (c) Second generation pesticides (d) None of these 
 
14. Most hazardous metal pollutant of automobile exhaust is  
 (a) Cadmium (b) Mercury (c) Copper (d) Lead 
 
15. Declaration of human rights and Environment was drafted by the United Nations at  
 (a) Geneva (b) Stockholm (c) Rio de Janeiro  (d) Johannesburg 
 
16. The First Chairman of National Green Tribunal was  
 (a) Justice V.D. Salvi  (b) Justice Suryanarayan Naidu 
 (c) Justice Swatantra Kumar (d) Justice Lokeshwar Singh Panta 
 
17. Electoral college constituted for the election of the President of India consists of   
 (a) Members of both houses of Parliament and elected members of State Legislative 

Assemblies. 
 (b) All the Members of Parliament and State Legislative Assemblies. 
 (c) Elected Members of both the houses of Parliament and elected members of State 

Legislative Assemblies. 
 (d) Elected Members of Parliament. 
 
18. What is the meaning of ‘Zero Hour’ in the Indian Parliamentary procedure ? 
 (a) At the end of question hour and before the debate on other agenda of the day. 
 (b) Time just before the question hour. 
 (c) When any special privilege motion is accepted. 
 (d) First hour of the session. 
 
19. Which were the first two states in India to establish Panchayati Raj in 1959 ? 
 (a) Rajasthan and Odisha (b) Rajasthan and Punjab 
 (c) Rajasthan and Maharashtra (d) Rajasthan and Andhra Pradesh 
 
20. Under which Article 1/3 seats are reserved for women in Panchayats in 73rd Constitutional 

Amendment ? 
 (a) Article 243 A   (b) Article 243 D  
 (c) Article 243 B   (d) Article 243 C 
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13. ...         1939   ,    
 (a)    (b)     
 (c)     (d)     
 
14.           
 (a)  (b)  () (c)  (d)  
 
15.        -     _______   
 (a)  (b)  (c)    (d)  
 
16.         ________  
 (a)  ..   (b)     
 (c)     (d)     
 
17.              
 (a)              
 (b)              
 (c)               
 (d)      
 
18.      ‘’     ? 
 (a)                
 (b)        
 (c)           
 (d)      
 
19.          1959       ? 
 (a)     (b)     
 (c)     (d)    
 

20. 73        1/3         
    ? 

 (a)  243A   (b)  243D  
 (c)  243B    (d)  243C 
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21. Supreme Court’s power of ‘Judicial Review’ implies to  
 (a) Right to review judicial administration. 
 (b) Right of the court to explain law. 
 (c) Right to declare laws, that contravene the constitution, as null and void. 
 (d) Right of the court to review its decision. 
 
22. The 44th Amendment Act, 1978 replaced which term by “Armed Rebellion” in the  

Article-352 of the Indian Constitution ? 
 (a) Violent movement  (b) Internal disturbance 
 (c) Conspiracy    (d) Failure of Constitutional machinery 
 
23. The full form of SIM is 
 (a) Subscribers Identity Module (b) Subscriber Identity Machine 
 (c) Self Identify Machine (d) Self Identity Module  
 
24. The main function of the ‘firewall’ is _______ incoming and outgoing network.  
 (a) moving   (b) copying  
 (c) deleting   (d) monitoring and controlling  
 
25. The complete form of ‘HTML’ is 
 (a) High Transfer Markup Language (b) Hyper Text Markup Language 
 (c) High Text Machine Language (d) Hyper Text Machine Language 
 
26. The CD-ROM is the example of which of the following ? 
 (a) Magnetic tape (b) Winchester disk (c) Optical memory (d) Magnetic disk 
 
27. Choose the statement which is true. 
 (a) Aspirin is non-narcotic and paracetamol is narcotic analgesics. 
 (b) Aspirin is narcotic and paracetamol is non-narcotic analgesic. 
 (c) Aspirin and paracetamol both are narcotic analgesics. 
 (d) Aspirin and paracetamol are non-narcotic analgesics.  
 
28. Aspartame is widely used as 
 (a) Natural sweetener  (b) Artificial sweetener 
 (c) Pain-killer medicine  (d) None of these 
 
29. Vitamin B12 is a cyanide containing complex of  
 (a) Cobalt (b) Iron (c) Magnesium (d) Zinc 
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21.          
 (a)        
 (b)         
 (c)              
 (d)         
 

22. 44  , 1978      352       “ ” 
  ? 

 (a)    (b)    
 (c)     (d)     
 

23.  (SIM)      
 (a)    (b)     
 (c)     (d)    
 

24. ‘’           _______    
 (a)    (b)   
 (c)     (d)    
 

25.     (HTML)      
 (a)     (b)      
 (c)      (d)     
 

26. -       ? 
 (a)     (b)    
 (c)     (d)   
 

27.         
 (a)  -       
 (b)     -     
 (c)         
 (d)    -    
 

28.        
 (a)   ()    (b)   ()     
 (c)      (d)     
 

29.  (B) -12, _______        
 (a)    (b)   
 (c)     (d)  
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30. pH of acid rain is  
 (a) equal to 5.6   (b) > 5.6 
 (c) < 5.6   (d) None of these 
 
31. AIDS virus destroys which type of following cells to cause immunodeficiency ? 
 (a) CD4+ (T-cells)  (b) CD8+ (T-cells) 
 (c) B cells   (d) All of these 
 
32. Athelete’s foot (Tinea pedis) is caused by  
 (a) Protozoan (b) Virus (c) Bacteria (d) Fungus 
 
33. BCG vaccine protects against which of the following disease ? 
 (a) Malaria (b) Filaria (c) Tuberculosis (d) Small Pox 
 
34. Bt cotton is transgenic crop containing a gene of a bacterium protein which makes it  
 (a) Insect resistant  (b) Salt resistant 
 (c) Drought resistant  (d) Viral free 
 
35. A condition in which heart-rate is reduced less than 60/minute is known as  
 (a) Tachycardia   (b) Bradycardia 
 (c) Myocarditis   (d) Diastolis 
 
36. Which among the following vitamin participates in the synthesis of co-enzymes ? 
 (a) Vitamin-A (b) Vitamin-K (c) Vitamin-C (d) Vitamin-B 
 
37. If electrical conductivity increases with the increase of temperature of a substance, then it 

becomes a/an ________. 
 (a) Conductor (b) Insulator (c) Semiconductor (d) Carburettor 
 
38. Who discovered ‘atom’ ? 
 (a) Madam Curie   (b) James Chadwick 
 (c) Rutherford   (d) John Dalton 
 
39. Which law is called the law of inertia ? 
 (a) Newton’s First Law  (b) Newton’s Third Law 
 (c) Newton’s Second Law (d) All of these 
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30.       
 (a) 5.6     (b) 5.6    
 (c) 5.6      (d)     
 

31.                    ? 
 (a) CD4+ (-)  (b) CD8+ (-)  
 (c) - (-) (d)   
 

32. ‘ ’ (-) _______       
 (a)    (b)  ()  
 (c)  ()  (d)  () 
 

33. ...               ? 
 (a)    (b)   
 (c)     (d)   
 

34. ..      ,              
  

 (a)     (b)    
 (c)      (d)   
 

35.    -  60       ,     
 (a)    (b)   
 (c)     (d)  
 

36.              ? 
 (a) -‘’   (b) -‘’  
 (c) -‘’    (d) -‘’ 
 

37.        –            _______  
 (a)    (b)   
 (c)     (d)  
 

38.        ? 
 (a)     (b)    
 (c)     (d)   
 

39.         ? 
 (a)       (b)      
 (c)      (d)   
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40. According to NITI-Aayog Report, 2018, which district is the most backward district in the 
country ? 

 (a) Asifabad (b) Singrauli (c) Mewat (d) Lahaul-Spiti 
 
41. What is the name of world’s largest cruise ship which was launched in March, 2018 ? 
 (a) Royal Caribbean  (b) Symphony of the Seas 
 (c) Harmony of the Seas (d) Oasis of the Seas 
 
42. Which film has been selected as India’s official entry to Oscars 2019 ? 
 (a) Village Rockstar  (b) Tumbaad 
 (c) Manto   (d) Kadvi Hawa 
 
43. Which state has won “Santosh Trophy” in 2018 ? 
 (a) Karnataka (b) Mizoram (c) West Bengal (d) Kerala 
 
44. A traveller adds or subtracts a day and date after crossing which of the following longitude ? 
 (a) 0 longitude (b) 84 longitude (c) 180 longitude (d) 90 longitude 
 
45. Who of the following has given the “Index of crop diversification” ? 
 (a) Gibs-Martin   (b) Mohammad Shafi 
 (c) J.H. Von-Thunen  (d) J.C. Weaver 
 
46. Which one of the following criteria is not a criterion for the measurement of human 

development index proposed by UNDP ? 
 (a) Life expectancy  (b) Literacy rate 
 (c) Per capita income  (d) Infant mortality rate  
 
47. Which one of the following sources of energy is not a conventional source of energy ? 
 (a) Thermal energy  (b) Geothermal energy 
 (c) Hydro-electric energy (d) Compressed Natural Gas (CNG) 
 
48. Who was the Peshwa of Marathas when the third Battle of Panipat was fought ? 
 (a) Baji Rao-I (b) Madhava Rao-I (c) Balaji Rao-II (d) Balaji Baji Rao 
 
49. How many “Mandalas” are there in the Rigveda ? 
 (a) Ten (b) Twenty (c) Twenty five (d) Forty 
 
50. Which among the following places in Uttarakhand is not related to freedom struggle ? 
 (a) Khumar (b) Deghat (c) Khatima (d) Salam 
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40.  –   2018             ? 
 (a)  (b)  (c)  (d) - 
 
41.  2018           ()     ? 
 (a)     (b)     
 (c)      (d)     
 
42.  2019                ? 
 (a)   (b)  (c)  (d)   
 
43.  2018  “ ”     ? 
 (a)  (b)  (c)   (d)  
 
44.                      ? 
 (a)   (b) 84  (c) 180  (d) 90  
 
45.     “-”     ? 
 (a)   (b)   (c) ..  (d) ..  
 
46. ....     “  ”           ? 
 (a)    (b)    
 (c)      (d)    
 
47.      -       ? 
 (a)     (b)    
 (c)     (d)  ()   
 
48.            ? 
 (a)     (b)    
 (c)     (d)   
 
49.      ? 
 (a)  (b)  (c)  (d)  
 
50.               ? 
 (a)  (b)  (c)  (d)  
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51. If a constant 50 is substracted from each of the value of X and Y, the regression coefficient  
 (a) reduced by 50  
 (b) 1

50 of the original regression coefficient 
 (c) increased by 50 
 (d) not changed 
 
52. 2x + 5y = 20 is the regression equation of y on x. If x = 60, then the estimated value of y 
 (a) 20 (b) 30 (c) –20 (d) –30 
 
53. The area of a triangle whose vertices are (10, 5), (3, 2), (6, –5) is 
 (a) 35 (b) 32 (c) 29 (d) None of these 
 
54. What fraction is 87 2

1  percent ? 
 (a) 7/8 (b) 8/7 (c) 10/2 (d) 11/2 
 
55. The two numbers, whose mean proportional is 24 and the third proportional is 1536, are 
 (a) 6 and 96 (b) 6 and 12 (c) 7 and 36 (d) 12 and 36 
 
56. Ramesh invests ` 30,000 for one year in a business. How much his partner Mahesh should 

invest in that order that profit after one year may be in the ratio 2 : 3 ? 
 (a) ` 30,000 (b) ` 35,000 (c) ` 40,000 (d) ` 45,000 
 
57. The three smallest consecutive whole number, such that the difference between one fourth 

of the largest and one-fifth of smallest is atleast 3, are  
 (a) 40, 41, 42  (b) 50, 51, 52 (c) 60, 61, 62 (d) 70, 71, 72 
 
58. A and B are two sets such that A has 40 elements, A B has 60 elements and A  B has 

10 elements. Then, number of elements, B has  
 (a) 58 (b) 40 (c) 30 (d) None of these 
 
59. The value of x in equation 2 log53  log9x + 1 = log53 is 
 (a) 3/5 (b) 5/3 (c) 1/3 (d) 1/5 
 
60. Five years ago, a woman’s age was the square of her son’s age. After ten years, her age 

will be twice that of her son’s age. Present ages of son and woman are  
 (a) (2, 14) years   (b) (10, 30) years  
 (c) (15, 45) years    (d) None of these 
 
61. Sixty five percent of a number is 21 less than four fifth of that number. What is the number ? 
 (a) 120 (b) 100 (c) 140 (d) 160 
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51.  x  y       50       
 (a) 50       (b) 1/50      
 (c) 50       (d)     
 

52. x   y    2x + 5y = 20    x = 60 ,  y      
 (a) 20 (b) 30 (c) –20 (d) –30 
 

53.      (10,5), (3, 2), (6, –5) ,  
 (a) 35 (b) 32 (c) 29 (d)     
 

54. 87 2
1       ?  

 (a) 7/8 (b) 8/7 (c) 10/2 (d) 11/2 
 
55.  ,    24     1536 ,  
 (a) 6  96 (b) 6  12 (c) 7  36 (d) 12  36 
 

56.         ` 30,000            
     2 : 3     ?  

 (a) ` 30,000 (b) ` 35,000 (c) ` 40,000 (d) ` 45,000 
 

57.      ,               
   3  

 (a) 40, 41, 42  (b) 50, 51, 52 (c) 60, 61, 62 (d) 70, 71, 72 
 

58. A  B       A  40 , A  B  60   A  B  10   
 B          

 (a) 58 (b) 40 (c) 30 (d)     
 

59.  2 log53  log9 x + 1 = log53  x     
 (a) 3/5 (b) 5/3 (c) 1/3 (d) 1/5 
 

60. 5                 10      
                 

 (a) (2, 14)    (b) (10, 30)   
 (c) (15, 45)     (d)     
 

61.    65%,    4/5  21  ,      ? 
 (a) 120 (b) 100 (c) 140 (d) 160 
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62. What percent is 3% of 5% ? 
 (a) 15% (b) 30% (c) 50% (d) 60% 
 
63. The lines x – y – 6 = 0, 6x + 5y + 8 = 0 and 4x – 3y – 20 = 0 are 
 (a) Concurrent   (b) Non-concurrent 
 (c) Perpendicular to each other (d) Parallel to each other 
 
64. The equation of line whose inclination is 60 and passing through (–2, 5) is given by 
 (a) y = 3 x + 2 3 + 5  (b) y = x

3 + 2 3 + 5  
 (c) x = 3y + 2 3 + 5  (d) x = y

3  + 2 3 + 5 
 
65. If logabc = x, logbca = y and logcab = z, then the value of 
 1

x + 1 + 1
y + 1 + 1

z + 1 is 
 (a) 2 (b) 3 (c) 4 (d) 1 
 
66. The points on the x-axis whose distance from the point A(7, 6) and B (–3, 4) are in the 

ratio 1 : 2 are 
 (a) (9, 0), 


 0 ,3

35   (b) 


 0 ,9
1 , 


 0 ,35

3   
 (c) (35, 0), (3, 0)    (d) (9, 0), (7, 0) 
 
67.  log a2

bc + log b2
ac + log c2

ab  is equal to 
 (a) 0 (b) 1 (c) 2 (d) abc 
 
68. A, B and C enter into a partnership with ` 26,000, ` 34,000 and ` 10,000 respectively. 

Find their shares in a profit of ` 3,500.  
 (a) ` 1,200, ` 1,800, ` 500 (b) ` 1,100, ` 1,900, ` 500  
 (c) ` 1,400, ` 1,200, ` 900 (d) ` 1,300, ` 1,700, ` 500 
 
69. If P(A) = 0.5 and P(B) = 0.3, then probability of the simultaneous happening of two 

independent A and B is 
 (a) 0.8 (b) 0.15 (c) 0.2 (d) None of these 
 
70. In tossing of three coins at a time, the probability of getting at most one head is  
 (a) 3/8 (b) 7/8 (c) 1/2 (d) 1/8 
 
71. In how many ways, letters of STATISTICS be arranged ? 
 (a) 40320 (b) 25200 (c) 4200 (d) 50400 
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62. 5%  3%    ? 
 (a) 15% (b) 30% (c) 50% (d) 60% 
 

63.  x – y – 6 = 0, 6x + 5y + 8 = 0  4x – 3y – 20 = 0   
 (a)    (b)   
 (c) -    (d) -   
 

64.      60   (–2, 5)         
 (a) y = 3 x + 2 3 + 5  (b) y = x

3 + 2 3 + 5  
 (c) x = 3y + 2 3 + 5  (d) x = y

3  + 2 3 + 5 
 
65.  loga bc = x, logb ca = y  logc ab = z   

 1
x + 1 + 1

y + 1 + 1
z + 1     

 (a) 2 (b) 3 (c) 4 (d) 1 
 

66. x –       A(7,6)  B (–3,4)     1 : 2 ,      
 (a) (9, 0), (35/3, 0)  (b) (1/9, 0), (3/35, 0)  
 (c) (35, 0), (3, 0)    (d) (9, 0), (7, 0) 
 

67.  log a2
bc + log b2

ac + log c2
ab         

 (a) 0 (b) 1 (c) 2 (d) abc 
 
68. A, B  C   ` 26,000, ` 34,000  ` 10,000           

` 3500           
 (a) ` 1,200, ` 1,800, ` 500 (b) ` 1,100, ` 1,900, ` 500  
 (c) ` 1,400, ` 1,200, ` 900 (d) ` 1,300, ` 1,700, ` 500 
 
69.  P(A) = 0.5  P(B) = 0.3,     A  B          
 (a) 0.8 (b) 0.15 (c) 0.2 (d)     
 
70.                
 (a) 3/8 (b) 7/8 (c) 1/2 (d) 1/8 
 
71. STATISTICS            ? 
 (a) 40320 (b) 25200 (c) 4200 (d) 50400 
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72. If A and B are mutually exclusive, then P(A  Bc) is 
 (a) 0 (b) 1 (c) P(A) (d) P(A)P(Bc) 
 
73. In simple random sampling with replacement, the same sampling unit may be included in 

the sample  
 (a) only once   (b) only twice 
 (c) more than once  (d) None of these 
 
74. The correct relationship between AM, GM and HM is 
 (a) A.M. = G.M. = H.M. (b) G.M. > A.M. > H.M.  
 (c) H.M. > G.M. > A.M . (d) A.M. > G.M. > H.M. 
 
75. Choose correct probability relation. 
 (a) 0 < P(A) < 1   (b) –1 < P(A) < 1  
 (c) 0 < P(A) < –   (d) None of these 
 
76. A die is thrown twice and the sum of numbers appearing is observed to be 6. What is the 

conditional probability that the number 4 has appeared at least once ? 
 (a) 1/5 (b) 2/5 (c) 3/5 (d) None of these 
 
77. Central Statistical Organization is headed by 
 (a) Deputy Director General  (b) Chairman 
 (c) Assistant General  (d) Director General 
 
78. Laspeyre’s Index Number is  
 (a) p1q0p0q0

  100 (b) p1q1p0q1
  100 (c) p1q1p0q0

  100 (d) None of these 
 
79. The reference year for the first agriculture census was 
 (a) 1970 – 71 (b) 1969 – 70 (c) 1971 – 72 (d) 1980 – 81 
 
80. A person has 12 friends of whom 8 are relatives. The number of ways in which he can 

invite 7 guests such that 5 of them are relative. 
 (a) 336 (b) 446 (c) 326 (d) 536 
 
81. Which of the following organization of the Government is responsible for collection, 

compilation and dissemination of Trade Statistics in India ? 
 (a) Central Statistical Organization 
 (b) Directorate General of Commercial Intelligence and Statistics 
 (c) Department of Industry, Policy and Promotion 
 (d) None of these 
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72.  A  B       P(A  Bc)   
 (a) 0 (b) 1 (c) P(A) (d) P(A)P(Bc) 
 
73.                 
 (a)      (b)     
 (c)      (d)     
 

74.   (AM),   (GM)    (HM)      
 (a) AM = GM = HM  (b) GM > AM > HM  
 (c) HM > GM > AM  (d) AM > GM > HM 
 
75.      
 (a) 0 < P(A) < 1   (b) –1 < P(A) < 1  
 (c) 0 < P(A) < –   (d)     
 
76.             6       4      

     ? 
 (a) 1/5 (b) 2/5 (c) 3/5 (d)     
 
77.         
 (a)   (b)  (c)   (d)  
 
78.     
 (a) p1q0p0q0

  100 (b) p1q1p0q1
  100 (c) p1q1p0q0

  100 (d)      
 

79.        
 (a) 1970 – 71 (b) 1969 – 70 (c) 1971 – 72 (d) 1980 – 81 
 
80.    12     8     7          

  5   ? 
 (a) 336 (b) 446 (c) 326 (d) 536 
 

81.              ,      
  ? 

 (a)    
 (b)         
 (c) ,     
 (d)     
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82. What is the main function of Central Statistical Organisation (C.S.O.) ? 
 (a) Determination of money supply 
 (b) Price determination 
 (c) Collection of estimates of national income 
 (d) Collection of detail data regarding employment 
 
83. The Central Statistical Organisation was established in year 
 (a) 1947 (b) 1950 (c) 1951 (d) 1961 
 
84. Cost of living at two different cities can be compared with the help of  
 (a) Consumer price index  
 (b) Purchasing power of money 
 (c) Both (a) and (b)   
 (d) Neither (a) nor (b)  
 
85. If Laspeyre’s and Paache’s index numbers are 324 and 144 respectively, then Fisher’s 

ideal index number will be  
 (a) 234 (b) 180 (c) 216 (d) 90 
 
86. Which of the following is not the division of NSSO ? 
 (a) Survey Design and Research Division (SDRD) 
 (b) Data Processing Division (DPD) 
 (c) Co-ordination and Publication Division (CPD) 
 (d) Field Data Division (FDD) 
 
87. If the Consumer Price Index for 1994 is 800, then the purchasing power of rupee is  
 (a) 0.125 paise (b) 12.5 paise (c) 8 paise (d) None of these 
 
88. The best average for the construction of index number is  
 (a) Arithmetic mean  (b) Median 
 (c) Mode   (d) Geometric mean 
 
89. If the value of Pearson’s coefficient 2 is equal to 3 for a distribution, then the curve will 

be  
 (a) Leptokurtic (b) Mesokurtic (c) Platykurtic (d) None of these 
 
90. The value of x in equation 3x(22x) = 7(5x) is 
 (a) 





7

12log
5log    (b) 





5

12log
7log  

 (c) 




5
7log
12log     (d) 





7
5log

12log  
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82.    (C.S.O.)       
 (a)      
 (b)    
 (c)       
 (d)        
 

83.         
 (a) 1947 (b) 1950 (c) 1951 (d) 1961 
 

84.               
 (a)     (b)      
 (c) (a)  (b)   (d)  (a)    (b) 
 

85.       324  144          
 (a) 234 (b) 180 (c) 216 (d) 90 
 

86.      NSSO     ? 
 (a)      (SDRD)  
 (b)    (DPD)  
 (c)     (CPD) 
 (d)    (FDD) 
 

87.     1994  800         
 (a) 0.125  (b) 12.5  (c) 8  (d)     
 

88.           
 (a)   (b)  (c)  (d)   
 

89.        2   3 ,     
 (a)     (b)    
 (c)     (d)     
 

90.  3x(22x) = 7(5x)  x    - 
 (a) 





7

12log
5log    (b) 





5

12log
7log  

 (c) 




5
7log
12log     (d) 





7
5log

12log  
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91. The geometric mean of 6 values is 75 and the geometric mean of 4 of them is 67. Find the 
geometric mean of the other two. 

 (a) 75/67 (b) 752/672 (c) 75/6.7 (d) (75)3/(67)2 
 
92. The arithmetic mean of 2n natural numbers is  
 (a) n + 12 (b) n

2 + 1 (c) 2n + 1 (d) 2n – 1 
 
93. The average of 10 observations is 14.4. If the average of first 4 observations is 16.5, the 

average of remaining 6 observations is  
 (a) 13.6 (b) 13.0 (c) 13.2 (d) 12.5 
 
94. The standard deviation of the numbers 5, 8, 9, 2 and 6 is 2.45. Their coefficient of 

variations is  
 (a) 40% (b) 39.86% (c) 41.82% (d) 40.83% 
 
95. In a skewed distribution, the mode and median are 24 and 22 respectively. Its arithmetic 

mean is   
 (a) 21.50 (b) 20.00 (c) 23.00 (d) 21.00 
 
96. Given the observation 40, 50, 55, the sum of deviations of the observations from their 

respective mean is 
 (a) 5 (b) –5 (c) 0 (d) 10 
 
97. Given three quartiles q1, q2 and q3. Coefficient of Quartile deviation is given by the 

formula 
 (a) q3 + q1q3 – q1 (b) q3 + q1q1 – q3 (c) q3 – q1q2 – q3 (d) q3 – q1q3 + q1 
 
98. If the correlation coefficient between X and Y is 0.5, x = 2 y and the angle between the 

regression line is  then  is equal to 
 (a) tan–1 5

4  (b) tan–1 5
3  (c) tan–1 4

3  (d) tan–1 3
2  

 
99. The two lines of regression are x + 2y – 5 = 0 and 2x + y – 8 = 0, then the coefficient of 

correlation between x and y is 
 (a) 3

2  (b) 4
3  (c) 1 (d) 2

1  
 
100. If r = 0, then the lines of regression are  
 (a) Coincident   (b) Parallel 
 (c) Perpendicular to each other (d) None of these 

_____________ 
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91.      75     4     67       
     

 (a) 75/67 (b) 752/672 (c) 75/6.7 (d) (75)3/(67)2 
 

92.  2n      
 (a) n + 12 (b) n

2 + 1 (c) 2n + 1 (d) 2n – 1 
 

93. 10    14.4     4    16.5    6      
 (a) 13.6 (b) 13.0 (c) 13.2 (d) 12.5 
 

94.  5, 8, 9, 2  6    2.45       
 (a) 40% (b) 39.86% (c) 41.82% (d) 40.83% 
 

95.         24  22       
 (a) 21.50 (b) 20.00 (c) 23.00 (d) 21.00 
 

96.    45, 50  55 ,              
 (a) 5 (b) –5 (c) 0 (d) 10 
 

97.    q1, q2  q3           
 (a) q3 + q1q3 – q1 (b) q3 + q1q1 – q3 (c) q3 – q1q2 – q3 (d) q3 – q1q3 + q1 
 

98.  x  y     0.5   x = 2 y         
,       

 (a) tan–1 5
4  (b) tan–1 5

3  (c) tan–1 4
3  (d) tan–1 3

2  
 

99.      x + 2y – 5 = 0  2x + y – 8 = 0  x  y    
   

 (a) 3
2  (b) 4

3  (c) 1 (d) 2
1  

 

100.  r = 0        
 (a)    (b)   
 (c)     (d)     

_____________ 
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Space For Rough Work /      
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Space For Rough Work /      

https://www.freshersnow.com/previous-year-question-papers/ 



Series-A 24 ESO-10 

Space For Rough Work /      
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